
4

OHW 

OHWA
HOUSING AND COVERS

P1547

POUR IN
 WATER ONLY

BU
NN

®

H
O
T

W
A
T
E
R

S
Y
S
T
E
M

12

13

17

15

14

14

15

16

11

2

1

18

3

4

5

6

8

9

10

7

OHWA only

28922 101007



ITEM PART NO. QTY. DESCRIPTION

5

 - 02564.0002 - Lid Assy (Includes items 1 and 2)

 1 02592.0000 1 Lid, Pour-In

 2 00725.0000 1 Knob 
  01315.0000 1  Screw, #8-32 x .375"

 3 02554.0000 1 Cover, Top (Also order item 4) 
  02336.0000 2  Screw, #4-40 x .375"

 4 00833.0000 1 Decal, POUR IN WATER ONLY

 5 02551.0000 1 Housing, Main (Also order item 6)

 6 00657.0002 1 Decal, BUNN HOT WATER

 7 02497.0001 1 Drip Tray Kit (Includes items 8 thru 10)

 8 02572.0000 1 Cover, Drip Tray

 9 02571.0000 1 Drip Tray

 10 02547.0000 4 Foot, Rubber

 11 00917.0000 8 Clip, "J" Type #8-32

 12 28923.0000 1 Panel  W/Decal (Includes item 13) 
  01311.0000 4  Screw, #8-32 x .25"

 13 00831.0000 1 Decal, ELECTRICAL WARNING

 14 02556.0000 1 Panel, Lower Rear (OHW only) 
  02556.0002* 1 Panel, Lower Rear (OHWA only) 
  01311.0000 4  Screw, #8-32 x .25"

 15 00824.0000 1 Decal, GROUND

 16 25137.0002 4 Foot 
  00970.0000 4  Nut, Keps #8-32

 17 37881.0000 1 Decal, No Serviceable Parts

 18 37881.0002 1 Decal, No Serviceable Parts

HOUSING AND COVERS

28922 120707


